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begin
for 1 in 35..300000 loop
insert into "SYSTEM"."EMP" values(i, 'dummy', mod(i,5),'\\A");
end loop

end ;
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BEGIN

= 1. F ¢ 7 ) TAERE
DBMS_RESOURCE_MANAGER.CLEAR_PENDING_AREA;
DBMS_RESOURCE_MANAGER.CREATE_PENDING_AREA;

2.3V a—~  J—TVERK
DBMS_RESOURCE_MANAGER.CREATE_CONSUMER_GROUP(
consumer_group => 'ONLINE_GRP', - O Y a—< s J)—F €
comment => 'online user'

)
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DBMS_RESOURCE_MANAGER.SET INITIAL_CONSUMER_GROUP(

user => 'kozue',
consumer_group => "ONLINE_GRP'
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=~ 4.0V —AT T MERK
DBMS_RESOURCE_MANAGER.CREATE_PLAN(
plan =>'SQL_TIMEOUT", UV —AT T €

comment => 'sql timeout plan'

)5

= 5. UY=AT 4 LT 4 TR (U Y — R IR 0O 5 R D FEE)
DBMS_RESOURCE_MANAGER.CREATE_PLAN_DIRECTIVE(
PLAN =>'SQL_TIMEOUT",
GROUP_OR_SUBPLAN =>"'OTHER_GROUPS',




Comment => 'other group'

)
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DBMS_RESOURCE_MANAGER.CREATE_PLAN_DIRECTIVE(

plan =>'SQL_TIMEOUT" ,
group_or_subplan =>'ONLINE_GRP"',

switch_group => 'CANCEL_SQL', - SQL ZHt VW H L
switch_time => 5, =B THALT T B
switch_estimate => FALSE ,

Comment => 'online group'
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DBMS_RESOURCE_MANAGER.VALIDATE_PENDING_AREA();

7. VI—=RTZ (8% (X7 4072707 a—X)
DBMS_RESOURCE_MANAGER.SUBMIT _PENDING AREA();

=8 AV a— « FN—T~DY Y — 2 IR 2 OMERAS -
DBMS_RESOURCE_MANAGER_PRIVS.GRANT_SWITCH_CONSUMER
_GROUP(
grantee_name => 'kozue',
consumer_group => 'ONLINE_GRP"',

grant_option => FALSE
)5

END:;
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ALTER SYSTEM SET RESOURCE_MANAGER_PLAN =
'SQL_TIMEOUT' SCOPE = <MEMORY or SPFILE or BOTH?>;
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BEGIN
DBMS_RESOURCE_MANAGER_PRIVS.GRANT_SWITCH_CONSUMER
_GROUP(
grantee_name => 'ikura',
consumer_group => 'ONLINE_GRP"',
grant_option => FALSE
);

END:;
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EXECUTE
DBMS_RESOURCE_MANAGER.SET_INITIAL_CONSUMER _
GROUP( user => 'ikura', consumer_group => 'ONLINE_GRP95———
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ALTER SYSTEM RESET RESOURCE_MANAGER_PLAN
SCOPE=MEMORY;
execute DBMS_RESOURCE_MANAGER.CLEAR_PENDING_AREA;
execute DBMS_RESOURCE_MANAGER.CREATE_PENDING_AREA;

execute DBMS_RESOURCE_MANAGER.DELETE_PLAN_CASCADE
( plan => 'SQL_TIMEOUT");

execute DBMS_RESOURCE_MANAGER.SUBMIT_PENDING_AREA();



